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𝑓(𝑥) = 2 𝑙𝑜𝑔𝑒 (
𝑥

2
− 1)

 (2, ∞)

 (1, ∞)

 (
1

2
, ∞)

 (−2, ∞)

 

𝑓(𝑥) = −3𝑥2 − 4𝑥 + 1 𝑥 = 1 𝑥 = 3

 −32

 −16

 
1

16

 −22

 −11

𝒇(𝒙) = 𝒆𝒙−𝟑 − 𝟐

 𝑓−1(𝑥) = −𝑙𝑜𝑔𝑒(𝑥 + 2) − 3

 𝑓−1(𝑥) = −𝑙𝑜𝑔𝑒(𝑥 + 2) + 3

 𝑓−1(𝑥) = 𝑙𝑜𝑔𝑒(𝑥 + 2) + 3

 𝑓−1(𝑥) = 𝑙𝑜𝑔𝑒(𝑥 − 2) + 3

 𝑓−1(𝑥) = −𝑙𝑜𝑔𝑒(2 − 𝑥) − 3

𝑓: (−1,2] → 𝑅, 𝑓(𝑥) = −2𝑥2 + 7 𝑓(𝑥)

 [−1,7]

 [−1,5]

 [−1,5)

 (1,7)

 [5,7]



(𝑚 + 2)𝑥 + 𝑦 = −𝑛

4𝑥 − (1 − 𝑚)𝑦 = 8

 m = −3 n = 2

 m = −3 n ≠ 2

 m = 2 n ≠ −8

 m = −3 or 2

 m ∈ R\{−3, 2}

∫ 𝑓(𝑥)𝑑𝑥 = 2
3

−1
∫ 3𝑓(𝑥) − 2 𝑑𝑥

−1

3

 

 

 

 

 

𝑓′(𝑥)



𝑓(𝑥)



𝑓(𝑥) = 𝑥3 − 3𝑥 + 2

 (−∞, 1]

 [−1,1]

 (−∞, −1]

 

 [1, ∞)

𝑦 = −𝑥2

- 

- 

- 
1

2

 y = −
1

2
𝑥2 − 3

 𝑦 = −4𝑥2 − 3

 y = 4𝑥2 − 3

 y = −
1

2
𝑥2 + 3

 y =
1

2
𝑥2 − 3

g′(x) = −3x2 + x − 1 g(1) =
9

2
, g(−2)

 

 

 

 

 

ℎ(𝑥) = −
sin(𝑥)

𝑥
 

1

2
≤ 𝑥 ≤ 3

−0.0175



𝑓(𝑥) = 10𝑥𝑒2𝑥

 
4

3

 −
5

2

 ∞

 
5

2

 
3

2

𝑦 = sin (2𝑥) 𝑥 =
𝜋

6

 𝑦 = 𝑥 −
𝜋

6
+

√3

2

 y = x +
𝜋

6
−

√3

2

 y = √3x −
√3

6
𝜋 +

√3

2

 y = x −
𝜋

6
+

1

2

 y = √3𝑥 −
√3

6
𝜋 +

1

2

 

 

 

 

 

Pr(𝐴) = 0.55 Pr(𝐴 ∩ 𝐵) = 0.30 Pr(𝐴′ ∩ 𝐵′) = 0.10 Pr (A|B)

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

f(x) = {
e−2x + 3, 0 ≤ x ≤ a

0, elsewhere

𝑎

 

 

 

 

 

 

 

 

 

 

 (0.17 − 1.96√
0.17∗0.83

20
, 0.17 + 1.96√

0.17∗0.83

20
)

 (0.17 − 2.58√
0.17∗0.83

20
, 0.17 + 2.58√

0.17∗0.83

20
)

 (0.17 − 2.58√0.17 ∗ 0.83, 0.17 + 2.58√0.17 ∗ 0.83)

 (0.17 − 0.99√
0.17∗0.83

20
, 0.17 + 0.99√

0.17∗0.83

20
)

 (0.17 − 1.96√
0.17∗0.17

20
, 0.17 + 1.96√

0.17∗0.17

20
)



ℎ: [0,24] → 𝑅, ℎ(𝑡) = 2 𝑠𝑖𝑛 (
𝜋𝑡

6
−

3𝜋

4
) + 4

𝑡 ℎ(𝑡)  𝑡 = 0

 

  ℎ(𝑡)

 h(t)



 ℎ(𝑡)

 

 

 

 

 

2.6 m





𝑓(𝑥) = −
𝑥3

3
+ 4𝑥 −

16

3

 𝑓(𝑥) (𝑥 − 2)

 

 𝑓(𝑥)



 𝑓−1(𝑥) 𝑥 ∈ [𝑎, ∞) 𝑎

 𝑓(𝑥) 𝑥 = −3

 𝑄(𝑎, 𝑏) 𝐿 𝑄(𝑎, 𝑏) 𝑂(0,0)

𝑎, 𝑏 𝐿



 𝑓(𝑥)



 

 

 

 

𝑓(𝑡) = 𝑓(𝑥) = {−
1

800
(𝑥 − 60)2 +

1

10
, 𝑀 − 𝑎 ≤ 𝑥 ≤ 𝑀 + 𝑎

0, 𝑒𝑙𝑠𝑒𝑤ℎ𝑒𝑟𝑒

 



 𝑎

 

 



𝑁(𝑡) = 15 ∗ 𝑒𝑡 + 200

 

 

 

N(t)

𝐷(𝑇) = 𝑎𝑒−
1

100
𝑇 + 500 𝑎

 



 

𝑝̂.

 






